

THE INTERLACING PROPERTIES OF GENERALIZED
NARAYANA POLYNOMIALS

JAMES JING YU ZHAO

ABSTRACT. In this paper, we obtain two new interlacing properties on the zeros of a type of generalized Narayana polynomials arising in the study of the infinite log-concavity of the Boros–Moll polynomials. Our tools include a criterion established by Liu and Wang and two new recurrence relations for these Narayana polynomials. The new recurrences are verified with the help of `Maple` package `APCI` given by Hou. Our results also imply the real-rootedness of these Narayana polynomials.

1. INTRODUCTION

Let \mathbf{RZ} be the set of real polynomials with only real zeros. Given two polynomials $f(x), g(x) \in \mathbf{RZ}$, suppose u_1, u_2, \dots and v_1, v_2, \dots are the zeros of $f(x)$ and $g(x)$, respectively, in nonincreasing order. We say that $g(x)$ interlaces $f(x)$, denoted $g(x) \preceq f(x)$, if either $\deg f(x) = \deg g(x) = n$ and

$$v_n \leq u_n \leq \dots \leq v_2 \leq u_2 \leq v_1 \leq u_1,$$

or $\deg f(x) = \deg g(x) + 1 = n$ and

$$u_n \leq v_{n-1} \leq u_{n-1} \leq \dots \leq v_2 \leq u_2 \leq v_1 \leq u_1.$$

Following the notation of Liu and Wang [12], we also let $a \preceq bx + c$ for any nonnegative a, b, c , and let $0 \preceq f$ and $f \preceq 0$ for any $f \in \mathbf{RZ}$. Let \mathbf{PF} be the set of polynomials in \mathbf{RZ} with nonnegative coefficients, including any nonnegative constant for convenience. The sequence of the coefficients of each polynomial in \mathbf{PF} is called a *Pólya frequency sequence* in the theory of total positivity, see Karlin [11] and Brenti [3]. Given a polynomial sequence $\{f_n(x)\}_{n \geq 0}$, if each $f_n(x) \in \mathbf{PF}$ and

$$f_0(x) \preceq f_1(x) \preceq \dots \preceq f_{n-1}(x) \preceq f_n(x) \preceq \dots,$$

Received by the editors January 19, 2022, and in revised form April 11, 2022.
2010 *Mathematics Subject Classification*. 26C10, 11B83.

Key words and phrases. Interlacing property, generalized Narayana polynomials, real zeros.

This work was supported by the Fund of Guangzhou College of Technology and Business Grant No. KAZX2021005, and was partially supported by the National Natural Science Foundation of China under Grant Nos. 11771330 and 11971203.

This work is licensed under a Creative Commons “Attribution-NoDerivatives 4.0 International” license.



then $\{f_n(x)\}_{n \geq 0}$ is said to be a generalized Sturm sequence.

There are many generalized Sturm sequences. For example, the sequence of the classical Narayana polynomials $\{N_n(x)\}_{n \geq 0}$, where

$$(1.1) \quad N_n(x) = \sum_{k=0}^n \frac{1}{n+1} \binom{n+1}{k} \binom{n+1}{k+1} x^k.$$

These polynomials were extensively studied by the combinatorial community, see for instance [1, 10, 4, 13]. Chen, Yang and Zhang [4] found the following generalized Narayana polynomials,

$$(1.2) \quad N_{n,m}(x) = \sum_{k=0}^n \left(\binom{n}{k} \binom{m}{k} - \binom{n}{k+1} \binom{m}{k-1} \right) x^k,$$

when they studied the infinite log-concavity of the Boros–Moll polynomials, which were first introduced by Boros and Moll [2] while studying a quartic integral. When $n = m + 1$, it is clear that (1.2) reduces to (1.1), namely, $N_{m+1,m}(x) = N_m(x)$. With the aid of a criterion established by Liu and Wang [12, Theorem 2.3], Chen et al. [4, Theorem 1.4] had proved the real-rootedness of $N_{n,m}(x)$ by showing two interlacing relations on the zeros of $N_{n,m}(x)$.

Theorem 1.1 ([4, Theorem 3.2]). *For any integers $0 \leq n \leq m$, the generalized Narayana polynomial $N_{n,m}(x)$ has only real zeros, and moreover, $N_{n,m}(x) \preceq N_{n+1,m+1}(x)$.*

Theorem 1.2 ([4, Theorem 3.4]). *For $n \geq m \geq 0$, the polynomial $N_{n,m}(x)$ has only real zeros. If $n \geq m+2$, then $N_{n,m}(x)$ has one and only one positive zero and m negative zeros, and moreover, for $m \geq 1$, the negative zeros of $N_{n,m}(x)$ and $N_{n+1,m+1}(x)$ have interlacing relations. That is,*

$$r_{n+1,m+1}^{(m+1)} < r_{n,m}^{(m)} < r_{n+1,m+1}^{(m)} < \cdots < r_{n,m}^{(2)} < r_{n+1,m+1}^{(2)} < r_{n,m}^{(1)} < r_{n+1,m+1}^{(1)} < 0,$$

where $\{r_{n,m}^{(i)}\}_{i=1}^m$ are negative zeros of $N_{n,m}(x)$ for all $m \geq 1$ and $n \geq m+2$.

In this paper, we obtain two new interlacing properties on the zeros of $N_{n,m}(x)$. One for $n \leq m+1$, the other for $n \geq m+2$. The main results of this paper are as follows.

Theorem 1.3. *Let $N_{n,m}(x)$ be given by (1.2). Then for any fixed $m \geq 0$, the sequence $\{N_{n,m}(x)\}_{n=0}^{m+1}$ is a generalized Sturm sequence. More precisely, for $1 \leq n \leq m+1$,*

$$N_{n-1,m}(x) \preceq N_{n,m}(x).$$

When $n \geq m+2$, the leading term of $N_{n,m}(x)$ is $-\binom{n}{m+2}x^{m+1}$ by (1.2). So $N_{n,m}(x) \notin \text{PF}$ for $n \geq m+2$. But, we still have the following result on the interlacing property of the zeros of $N_{n,m}(x)$.

Theorem 1.4. *For any integers $n \geq 3$ and $1 \leq m \leq n - 2$, we have*

$$N_{n,m-1}(x) \preceq N_{n,m}(x).$$

That is,

$$(1.3) \quad r_{n,m+1}^{(m+1)} < r_{n,m}^{(m)} < r_{n,m+1}^{(m)} < \cdots < r_{n,m}^{(1)} < r_{n,m+1}^{(1)} < 0 < r_{n,m}^+ < r_{n,m+1}^+,$$

where $\{r_{n,m}^{(i)}\}_{i=1}^m$ and $r_{n,m}^+$ are negative zeros and positive zero of $N_{n,m}(x)$, respectively, for all $m \geq 0$ and $n \geq m + 2$.

Our method is similar to that of Chen et al. [4]. However, we establish two new recurrence relations of $N_{n,m}(x)$ and hence deduce two new results, Theorems 1.3 and 1.4.

The remainder of this paper is organized as follows. In Section 2, we give two new recurrence relations of $N_{n,m}(x)$, and show symbolic proofs based on the extended Zeilberger algorithm. In Section 3, we complete the proofs of our main results, Theorem 1.3 and Theorem 1.4, by using the new recurrence relations obtained in Section 2.

2. RECURRENCE RELATIONS

In this section, we show two new recurrence relations of the generalized Narayana polynomials $N_{n,m}(x)$. Based on these crucial recurrence relations, we can prove the main results of this paper, the interlacing properties of the zeros of $N_{n,m}(x)$.

The main results of this section are as follows.

Theorem 2.1. *For any integer $m \geq 0$, we have*

$$(2.1) \quad \begin{aligned} (n+1)(m+2-n)N_{n+1,m}(x) &= [(m+2-n)(m-n)x + 2n(m-n) \\ &\quad + m+n+2]N_{n,m}(x) \\ &\quad + (x-1)(m-n)nN_{n-1,m}(x), \end{aligned}$$

for $n \geq 1$, with initial values $N_{0,m}(x) = 1$ and $N_{1,m}(x) = mx + 1$.

Theorem 2.2. *For any integer $n \geq 0$, we have*

$$(2.2) \quad \begin{aligned} (m+3)(ax-2)N_{n,m+1}(x) &= (b_0x^2 + b_1x - 4m - 6)N_{n,m}(x) \\ &\quad + m(x-1)(cx-2)N_{n,m-1}(x) \end{aligned}$$

for $m \geq 1$, where

$$(2.3) \quad \begin{cases} a = (n-m)(n-m-1), \\ b_0 = (n-m)(n-m-1)(n-m-2), \\ b_1 = (m-n)(2m^2 - 2mn + 7m - 3n + 7) - 2n, \\ c = (n-m-1)(n-m-2), \end{cases}$$

with initial values $N_{n,0}(x) = -\binom{n}{2}x + 1$ and $N_{n,1}(x) = -\binom{n}{3}x^2 - \frac{n(n-3)}{2}x + 1$.

The elementary proofs of Theorems 2.1 and 2.2 by hand are somewhat tedious. So we shall show alternative proofs by using a symbolic method, the extended Zeilberger algorithm [5], to derive these recurrences from the expression of $N_{n,m}(x)$. The extended Zeilberger algorithm was developed by Chen, Hou, and Mu [5] on the basis of the Zeilberger algorithm [15, 14].

Let us first have a brief overview of this algorithm with the notation and terminology of [5]. Given ℓ hypergeometric terms, namely, $f_1(k, p_1, p_2, \dots, p_\nu), \dots, f_\ell(k, p_1, p_2, \dots, p_\nu)$ of k with parameters p_1, p_2, \dots, p_ν such that both

$$\frac{f_i(k, p_1, p_2, \dots, p_\nu)}{f_j(k, p_1, p_2, \dots, p_\nu)} \quad \text{and} \quad \frac{f_i(k+1, p_1, p_2, \dots, p_\nu)}{f_i(k, p_1, p_2, \dots, p_\nu)}$$

are all rational functions of k and p_1, p_2, \dots, p_ν for any $1 \leq i, j \leq \ell$. The extended Zeilberger algorithm is devised to find a hypergeometric term $g(k, p_1, p_2, \dots, p_\nu)$ and polynomial coefficients $a_i(p_1, p_2, \dots, p_\nu)$ for $1 \leq i \leq \ell$ which are independent of k such that

$$(2.4) \quad a_1 f_1(k) + a_2 f_2(k) + \dots + a_\ell f_\ell(k) = g(k+1) - g(k),$$

where a_i stands for $a_i(p_1, p_2, \dots, p_\nu)$, $f_i(k)$ stands for $f_i(k, p_1, p_2, \dots, p_\nu)$, and $g(k)$ stands for $g(k, p_1, p_2, \dots, p_\nu)$ for brevity. For $1 \leq i \leq \ell$, let $F_i = \sum_k f_i(k)$. Summing the telescoping relation (2.4) over k usually leads to a homogeneous relation

$$(2.5) \quad a_1 F_1 + a_2 F_2 + \dots + a_\ell F_\ell = 0.$$

The extended Zeilberger algorithm has been implemented as the function `Ext_Zeil` in the Maple package `APCI` by Hou [9], which consists of three files “`apci.help`”, “`apci.lib`”, and “`apci.ind`”. The calling sequence of this function is of the form `Ext_Zeil([f1, f2, ..., fℓ], k)`. If the algorithm is applicable, it outputs $[C, Ca_2/a_1, Ca_3/a_1, \dots, Ca_\ell/a_1]$, where C is a k -free nonzero constant.

Now we are ready to show the proofs of Theorems 2.1 and 2.2, respectively. *Proof of Theorem 2.1.* To use the package `APCI`, we first import it in Maple as follows.

```
[> with(APCI);
```

```
  [AbelZ, Ext_Zeil, Gosper, MZeil, Zeil, hyper_simp, hyperterm, poch, qExt_Zeil,
    qGosper, qZeil, qbino, qhyper_simp, qhyperterm, qpoch]
```

Observe that (2.1) is of the form (2.5) with

$$f_1 = N(n+1, m, k)x^k, \quad f_2 = N(n, m, k)x^k, \quad f_3 = N(n-1, m, k)x^k,$$

where

$$(2.6) \quad N(n, m, k) = \binom{n}{k} \binom{m}{k} - \binom{n}{k+1} \binom{m}{k-1}.$$

In order to prove (2.1), we continue the following set of f_i :

$$[> f_1 := \left(\binom{n+1}{k} \binom{m}{k} - \binom{n+1}{k+1} \binom{m}{k-1} \right) x^k :$$

$$[> f_2 := \left(\binom{n}{k} \binom{m}{k} - \binom{n}{k+1} \binom{m}{k-1} \right) x^k :$$

$$[> f_3 := \left(\binom{n-1}{k} \binom{m}{k} - \binom{n-1}{k+1} \binom{m}{k-1} \right) x^k :$$

Then we run the command of the main function

$$[> \text{Ext_Zeil}([f_1, f_2, f_3], k);$$

$$\left[-\frac{k_free_3(n+1)(m+2-n)}{(x-1)(m-n)n}, \right. \\ \left. \frac{(m^2x - 2mnx + n^2x + 2mn + 2mx - 2n^2 - 2nx + m + n + 2)k_free_3}{(x-1)(m-n)n}, k_free_3 \right].$$

The above output implies that there exists some nonzero constant C free of k such that

$$C \cdot \frac{a_2}{a_1} \cdot N_{n+1,m}(x) + C \cdot \frac{a_3}{a_1} \cdot N_{n,m}(x) + C \cdot N_{n-1,m}(x) = 0,$$

where

$$\begin{cases} a_1 = (x-1)(m-n)n, \\ a_2 = -(n+1)(m+2-n), \\ a_3 = m^2x - 2mnx + n^2x + 2mn + 2mx - 2n^2 - 2nx + m + n + 2. \end{cases}$$

This relation is equivalent to (2.1). It is clear that $N_{0,m}(x) = 1$ and $N_{1,m}(x) = mx + 1$ by (1.2). This completes the proof. \square

Proof of Theorem 2.2. In a similar manner as in the proof of Theorem 2.1, one can reach (2.2) by setting

$$f_1 = N(n, m+1, k)x^k, \quad f_2 = N(n, m, k)x^k, \quad f_3 = N(n, m-1, k)x^k,$$

where $N(n, m, k)$ is as defined in (2.6). The details are omitted here. \square

3. PROOFS OF THE MAIN RESULTS

This section is devoted to the proofs of the main results of this paper, Theorem 1.3 and Theorem 1.4, the interlacing properties of the zeros of $N_{n,m}(x)$. Our proofs also imply the real-rootedness of $N_{n,m}(x)$ for $m \geq 0$ and $n \geq 1$.

In order to complete the proofs, we need the following sufficient condition, established by Liu and Wang [12], for determining whether two polynomials have interlaced zeros.

Theorem 3.1 ([12, Theorem 2.1]). *Let $F(x), f(x), g(x)$ be real polynomials satisfying the following conditions*

(i) *There exist real polynomials $\phi(x)$ and $\psi(x)$ such that*

$$(3.1) \quad F(x) = \phi(x)f(x) + \psi(x)g(x),$$

and $\deg F(x) = \deg f(x)$ or $\deg F(x) = \deg f(x) + 1$.

- (ii) $f(x), g(x)$ are polynomials with only real zeros, and $g(x) \preceq f(x)$.
- (iii) The leading coefficients of $F(x)$ and $g(x)$ have the same sign.

Suppose that $\psi(r) \leq 0$ for each zero r of $f(x)$. Then $F(x)$ has only real zeros and $f(x) \preceq F(x)$.

Remark 3.2. It should be mentioned that the result of Theorem 3.1 still holds if $\phi(x)$ and $\psi(x)$ are rational functions of x , provided $F(x)$, $f(x)$, and $g(x)$ are polynomials in x and the original conditions are satisfied. This can be obtained by a similar argument of the proof of Theorem 3.1 given by Liu and Wang [12].

Now we are ready to give a proof of Theorem 1.3.

Proof of Theorem 1.3. Note that the coefficients of x^k in $N_{n,m}(x)$, namely

$$(3.2) \quad \begin{aligned} N(n, m, k) &= \binom{n}{k} \binom{m}{k} - \binom{n}{k+1} \binom{m}{k-1} \\ &= \binom{n+1}{k+1} \binom{m+1}{k} \frac{(m-n)k + m + 1}{(n+1)(m+1)}, \end{aligned}$$

are nonnegative for $0 \leq n \leq m$. Thus each $N_{n,m}(x)$ is a polynomial with nonnegative coefficients for $0 \leq n \leq m$. By (1.2), it is clear that $N_{m+1,m}(x) = N_{m,m}(x)$, the classical Narayana polynomial, which had been proved to be real-rooted [12]. So $N_{m,m}(x), N_{m+1,m}(x) \in \text{PF}$ and $N_{m,m}(x) \preceq N_{m+1,m}(x)$. It remains to prove that $\{N_{n,m}(x)\}_{n=0}^m$ is a generalized Sturm sequence.

By (1.2) and (3.2), each polynomial $N_{n,m}(x)$ has only nonnegative coefficients. By Theorem 2.1

$$N_{0,m}(x) = 1, \quad N_{1,m}(x) = mx + 1,$$

and hence $N_{0,m}(x), N_{1,m}(x) \in \text{PF}$, and

$$N_{0,m}(x) \preceq N_{1,m}(x), \quad m \geq 0.$$

For $1 \leq n \leq m-1$, assume $N_{n-1,m}(x) \preceq N_{n,m}(x)$, we aim to prove that $N_{n,m}(x) \preceq N_{n+1,m}(x)$. For this purpose, let us consider the recurrence relation (2.1). Since $n \leq m-1$, the recurrence (2.1) can be rewritten as

$$(3.3) \quad \begin{aligned} N_{n+1,m}(x) &= \frac{(m+2-n)(m-n)x + 2n(m-n) + m+n+2}{(n+1)(m+2-n)} N_{n,m}(x) \\ &+ \frac{(x-1)(m-n)n}{(n+1)(m+2-n)} N_{n-1,m}(x), \quad n \geq 1. \end{aligned}$$

Observe that (3.3) is in the form of (3.1) where

$$F(x) = N_{n+1,m}(x), \quad f(x) = N_{n,m}(x), \quad g(x) = N_{n-1,m}(x),$$

and

$$\phi(x) = \frac{(m+2-n)(m-n)x + 2n(m-n) + m+n+2}{(n+1)(m+2-n)},$$

$$\psi(x) = \frac{(x-1)(m-n)n}{(n+1)(m+2-n)}.$$

Clearly, each $N_{n,m}(x)$ is a polynomial with degree n for $0 \leq n \leq m$. It is easy to verify that the conditions in (i), (ii), and (iii) of Theorem 3.1 are satisfied for $1 \leq n \leq m-1$. Moreover, $\psi(x) \leq 0$ for any $x \leq 0$, hence $\psi(r) \leq 0$ for any zero r of $f(x)$ since $f(x)$ is a polynomial with nonnegative coefficients. Then by Theorem 3.1, we obtain that $f(x) \preceq F(x)$, namely $N_{n,m}(x) \preceq N_{n+1,m}(x)$ for $1 \leq n \leq m-1$.

It is clear that $N_{n,m}(x) \in \text{PF}$ for $0 \leq n \leq m+1$ with $m \geq 0$, and hence $\{N_{n,m}(x)\}_{n=0}^{m+1}$ is a generalized Sturm sequence for any fixed $m \geq 0$. That is, $N_{n-1,m}(x) \preceq N_{n,m}(x)$ for $1 \leq n \leq m+1$. This completes the proof. \square

We proceed to prove Theorem 1.4.

Proof of Theorem 1.4. Let $n \geq m+2$ and $m \geq 0$. Clearly, each $N_{n,m}(x)$ is a polynomial with degree $m+1$. Moreover, each $N_{n,m}(x)$ has one and only one positive zero which has been proved in [4, Theorem 3.4] by applying Descartes's Rule (see [6]).

By the Chu–Vandermonde convolution (see [7] or [8, §5.1]), we have

$$N_{n,m}(1) = \binom{n+m}{n} - \binom{n+m}{n-2} = \frac{m+2-n}{m+2} \binom{n+m+1}{n} \leq 0, \quad n \geq m+2.$$

Evidently, $N_{n,m}(1) = 0$ only for $n = m+2$. Denote by $r_{n,m}^+$ the positive zero of $N_{n,m}(x)$. It follows that

$$(3.4) \quad 0 < r_{n,m}^+ \leq 1, \quad \text{for } m \geq 0, \quad n \geq m+2,$$

where the equality holds only for $n = m+2$.

We continue the proof of Theorem 1.4. Let $n \geq m+2$. By Theorem 2.2, we have

$$N_{n,0}(x) = -\binom{n}{2}x + 1, \quad N_{n,1}(x) = -\binom{n}{3}x^2 - \frac{n(n-3)}{2}x + 1.$$

Clearly, $N_{n,0}(x)$ has only one positive zero $r_{n,0}^+ = 2/n(n-1)$, and $N_{n,1}(x)$ has two real zeros, say, $r_{n,1}^{(1)}$ and $r_{n,1}^+$, where $r_{n,1}^{(1)} < 0 < r_{n,1}^+$. In view of

$$N_{n,1}(r_{n,0}^+) = \frac{4(n+1)}{3n(n-1)} > 0, \quad n \geq 3,$$

it follows that $r_{n,1}^{(1)} < r_{n,0}^+ < r_{n,1}^+$. That is,

$$N_{n,0}(x) \preceq N_{n,1}(x), \quad n \geq 3.$$

Moreover, $N_{n,1}(x)$ has one positive zero $r_{n,1}^+$, and one negative zero $r_{n,1}^{(1)}$, for $n \geq 3$.

For $n \geq 4$ and $1 \leq m \leq n - 3$, suppose $N_{n,m-1}(x) \preceq N_{n,m}(x)$. It suffices to show that $N_{n,m}(x) \preceq N_{n,m+1}(x)$. To this end, we will use Theorem 2.2 and Theorem 3.1 together with Remark 3.2. By Theorem 2.2, when $x \neq 2/(n-m)(n-m-1)$, the recurrence relation (2.2) can be rewritten as

(3.5)

$$N_{n,m+1}(x) = \frac{b_0x^2 + b_1x - 4m - 6}{(m+3)(ax-2)}N_{n,m}(x) + \frac{m(x-1)(cx-2)}{(m+3)(ax-2)}N_{n,m-1}(x).$$

Observe that the recurrence (3.5) is of the form of (3.1) where

$$F(x) = N_{n,m+1}(x), \quad f(x) = N_{n,m}(x), \quad g(x) = N_{n,m-1}(x),$$

and

$$\phi(x) = \frac{b_0x^2 + b_1x - 4m - 6}{(m+3)(ax-2)}, \quad \psi(x) = \frac{m(x-1)(cx-2)}{(m+3)(ax-2)},$$

where a, b_0, b_1, c are given by (2.3). It is easy to verify that the conditions in (i), (ii), and (iii) of Theorem 3.1 and Remark 3.2 are satisfied. So it remains to prove that $\psi(r) \leq 0$ for each zero r of $f(x)$, that is to prove

$$(3.6) \quad \psi(r) = \frac{m(r-1)((n-m-1)(n-m-2)r-2)}{(m+3)((n-m)(n-m-1)r-2)} \leq 0$$

for $1 \leq m \leq n - 3$ and any r whenever $N_{n,m}(r) = 0$.

Since $N_{n,m}(x)$ has only real zeros, it follows from (3.4) that

$$r_{n,m}^{(m)} < r_{n,m}^{(m-1)} < \cdots < r_{n,m}^{(2)} < r_{n,m}^{(1)} < 0 < r_{n,m}^+ < 1$$

where $\{r_{n,m}^{(k)}\}_{k=1}^m$ and $r_{n,m}^+$ stand for the negative zeros and the positive zero of $N_{n,m}(x)$, respectively.

By a result [16, Theorem 3.1] given by Zhao, we have for $m \geq 1$ and $n \geq m + 3$,

$$r_{n,m}^+ < \frac{2}{(n-m)(n-m-1)}.$$

So for $m \geq 1$ and $n \geq m + 3$, we get

$$(n-m)(n-m-1)r-2 < 0, \quad (n-m-1)(n-m-2)r-2 < 0$$

for all zeros r of $N_{n,m}(x)$. This means that the inequality in (3.6) holds strictly for each zero r of $N_{n,m}(x)$. Hence by Theorem 3.1 and Remark 3.2, the polynomial $F(x)$, that is $N_{n,m+1}(x)$, has only real zeros and $N_{n,m}(x) \preceq N_{n,m+1}(x)$ for $1 \leq m \leq n - 3$.

By the fact that each polynomial $N_{n,m}(x)$ has one and only one positive zero, it follows that $N_{n,m}(x)$ has one positive zero and m negative zeros for any $n \geq m + 2$ and (1.3) holds true. This completes the proof. \square

The following result is an immediate consequence of Theorem 1.4.

Corollary 3.3. *The negative zeros of $N_{n,m}(x)$ interlace the negative zeros of $N_{n,m+1}(x)$ for $n \geq m + 3$ and $m \geq 0$.*

ACKNOWLEDGEMENT

The author is grateful to the anonymous referee for valuable suggestions.

REFERENCES

1. D. Armstrong, *Generalized noncrossing partitions and combinatorics of Coxeter groups*, Mem. Amer. Math. Soc. **202**(949) (2009), x+159 pp.
2. G. Boros and V. Moll, *Irresistible Integrals*, Cambridge University Press, Cambridge, 2004.
3. F. Brenti, *Unimodal, log-concave, and Pólya frequency sequences in combinatorics*, Mem. Amer. Math. Soc. **81**(413) (1989).
4. H. Z. Q. Chen, A. L. B. Yang, and P. B. Zhang, *The real-rootedness of generalized Narayana polynomials related to the Boros–Moll Polynomials*, Rocky Mountain J. Math. **48**(1) (2018), 107–119.
5. W. Y. C. Chen, Q.-H. Hou, and Y.-P. Mu, *The extended Zeilberger algorithm with parameters*, J. Symbolic Comput. **47**(6) (2012), 643–654.
6. D. R. Curtiss, *Recent extensions of Descartes’ rule of signs*, Ann. Math. **19**(4) (1918), 251–278.
7. H. W. Gould, *Some generalizations of Vandermonde’s convolution*, Amer. Math. Monthly **63**(2) (1956), 84–91.
8. R. L. Graham, D. E. Knuth, and O. Patashnik, *Concrete Mathematics: A Foundation for Computer Science*, 2nd Edition, Addison-Wesley Publishing Company, 1994.
9. Q.-H. Hou, Maple package APCI, <http://faculty.tju.edu.cn/HouQinghu/en/lwgc/4184/content/23455.htm#lwgc>.
10. S. Kamioka, *Laurent biorthogonal polynomials, q -Narayana polynomials and domino tilings of the Aztec diamonds*, J. Combin. Theory Ser. A **123**(1) (2014), 14–29.
11. S. Karlin, *Total Positivity*, vol. I, Stanford University Press, Stanford, 1968.
12. L. L. Liu and Y. Wang, *A unified approach to polynomial sequences with only real zeros*, Adv. in Appl. Math. **38** (2007), 542–560.
13. S.-M. Ma, J. Ma, and Y.-N. Yeh, *γ -positivity and partial γ -positivity of descent-type polynomials*, J. Combin. Theory Ser. A **167** (2019), 257–293.
14. H. S. Wilf and D. Zeilberger, *An algorithmic proof theory for hypergeometric (ordinary and “ q ”) multisum/integral identities*, Invent. Math. **108** (1992), 575–633.
15. D. Zeilberger, *The method of creative telescoping*, J. Symbolic Comput. **11** (1991), 195–204.
16. J. J. Y. Zhao, *On the positive zeros of generalized Narayana polynomials related to the Boros–Moll polynomials*, arxiv.2108.03590.

SCHOOL OF ACCOUNTING, GUANGZHOU COLLEGE OF TECHNOLOGY AND BUSINESS,
FOSHAN 528138, CHINA.
E-mail address: jimjyzhao@126.com